G11: Numeracy Lessons Week 2 Pre -Test NAME CLASS

This graph shows how the speed of a racing car varies along a flat 3 kilometre track during its second lap.

Speed of a racing car along a 3 km track
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What is the approximate distance from the starting line to the beginning of the longest
straight section of the track?
A.0.5 km
B. 1.5 km
C.23 km
D.2.6 km
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Where was the lowest speed recorded during the second lap?

A. at the starting line.

B. at about 0.8km.
C. at about 1.3km.

D. halfway around the track
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What can you say about the speed of the car between the 2.6km and 2.8km marks?

A. The speed of the car remains constant.
B. The speed of the car is increasing.
C. The speed of the car is decreasing.

D. The speed of the car cannot be determined from the graph.
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Here are pictures of five tracks:
Along which one of these tracks was the car driven to produce the speed graph shown

earlier?

S: Starting paint

oy
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If you know that the amount of tax on the annual income is calculated as in the following
table:

Annual income in dirhams The amount of the tax
Less than 2000 50 fils for every dirham
From 2,000 to less than 6,000 100 dirhams + 10 fils for each dirham over 2000
6,000 to less than 14,000 500 dirhams + 20 fils for each dirham over 6000
More than or equal to 14,000 2000 dirhams + 25 fils for each dirham over 14,000

Find the amount of income tax due on two merchants, one whose annual income is ten
thousand dirhams and the other whose income is five thousand dirhams.
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Write the rule that represents the tax that the citizen pays in the case of 2000

to less

than 6000 dirhams.

Annual income in dirhams

The amount of the
tax

The rule

Less than 2000

50 fils for every dirham

From 2,000 to less than 6,000

100 dirhams + 10 fils for
each dirham over 2000
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In a Sprinting event, the ‘reaction time’ is the time interval between the starter’s gun firing
and the athlete leaving the starting block. The ‘final time’ includes both this reaction time,

and the running time.

The following table gives the reaction time and the final time of 8 runners

in a 100-meter sprint race.

Lane | Reaction time (sec) Final time (sec)
1 0.147 10.09
2 0.136 9.99
3 0.197 987
4 0.180 Did not finish the race
5 0.210 10.17
6 0.216 10.04
7 0.174 10.08
8 0.193 10.13

Identify the Gold, Silver and Bronze medalists from this race. Fill in the table below with

the medalists’ lane number, reaction time and final time.

Medal Lane Reaction time (secs) | Final time (secs)
GOLD | e
SILVER | S | I
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To date, no humans have been able to react to a starter’s gun in less than 0.110 second.
If the recorded reaction time for a runner is less than 0.110 second, then a false start is
considered to have occurred because the runner must have left before hearing the gun. If the
Bronze medalist had a faster reaction time, would he have had a chance to win the Silver
medal?
Give an explanation to support your answer
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